Another Big Ol Practice Assessment
1. Let f(x) = ezsmx and g(x) = —x + 2 be the boundanes

of the reglons 'R and S. Fmd the total area of R and S.
Zx2) ~[TRac€)—~ /m“c es¢ "J

2 r‘”\Mﬁ‘\‘i
P e A,

=313 4y - \v*’“"‘" _ "

—

2 43\ = meth o B i
tol. / Zs~x \ —
{ L (‘(*PZ‘) dx ~S 6 S\ N S T

Vo 311 o Q

I-U7: Given N 5 F ()dx=10 [] 7 F0) dx = 3 f_sz fx)dx = -2 Fmd each of the f following:

———————— WM"“”‘
2. f f(x)dx o
5(/,(,00‘

e w3 STy

i //// S 3 :S—"\‘ - Ltl ’;<~:D
3. fo f(x)dx /

J. f ~t ( - — d\ - zj\&) ’
) ) I (Mo g
1-U4 Y 7
Let f(x) = [ 2t — 3t ¢ 2 dt. lo — -5 = ( (2

4. Find f'(x). Simplify your answer.
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9. Find all intervals where f(x) is increasing. Justify your answer.
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I-U9 .
The function f(%) is shown over [-6,6] and 1 \L T
consists of line segments and a semicircle. \ '“),'4-’ o3
f//» 6. Find G(0), 6'(0), and G”(O) (,‘; N Y\‘Ti>1
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7. Find the[ relative maxima of G(x), if any, over [-6,6]. Justify your answer.
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8. Find any pomts of inflection of G(x). Justify your answer.
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9. It’s 10am and Frank has already used 8 mb of data on his cell phone. From 10am to midnight

(t=24), his data usage rate can be modeled by the differentiable function f(t) = sin Et +1 1

mb/hr. Write an n equation that includes an integral that will give the amount of data Frank
has used as of m1dmght Then find that amount and include units in your answer.
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10. Find the average value of f(x) = i over the interval [1,3] H% é —_
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11.Let Q'(t) =1 — Cos(n?t) model the rate, in hundred§ of people per hour, enter an amusement

park. Using correct units, explain the meaning of % f27 Q'(t) dt in context. Then, find its value.
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12. Find the volume of the solid generated by n
revolving the region bounded by i
f(x) = 2 — cosx and the vertical lines x = 2 SEN
and x = 6 about w Shew-atl-werle. OET P e
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13. Set-up a single integral to calculate the volume of the solid generated when the region bounded
by f(x) = x% — 2x and g(x) = x is revolved around the axis y = 4. Then use a calculator to
find that volume.
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